
Interleaving operator ||||||||| for TS pc2.2-def-interleaving-TS

T1T1T1 === (S1, Act1,−→1, S0,1, AP1, L1)(S1, Act1,−→1, S0,1, AP1, L1)(S1, Act1,−→1, S0,1, AP1, L1)

T2T2T2 === (S2, Act2,−→2, S0,2, AP2, L2)(S2, Act2,−→2, S0,2, AP2, L2)(S2, Act2,−→2, S0,2, AP2, L2)

The transition system T1 ||| T2T1 ||| T2T1 ||| T2 is defined by:

T1 ||| T2 = (S1×S2, Act1 ∪ Act2,−→, S0,1×S0,2, AP, L)T1 ||| T2 = (S1×S2, Act1 ∪ Act2,−→, S0,1×S0,2, AP , L)T1 ||| T2 = (S1×S2, Act1 ∪ Act2,−→, S0,1×S0,2, AP, L)

where the transition relation −→−→−→ is given by:
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atomic propositions: AP = AP1 ⊎ AP2AP = AP1 ⊎ AP2AP = AP1 ⊎ AP2

labeling function: L(〈s1,s2〉) = L1(s1) ∪ L2(s2)L(〈s1,s2〉) = L1(s1) ∪ L2(s2)L(〈s1,s2〉) = L1(s1) ∪ L2(s2)
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